
                        Installation Instructions
Rear Luggage Rack Extension R11xxGS

August 2003

Contains:
1 x Rear Luggage Rack Extension 4mm alum.
2 x Screw M5x16(flat round head)
2 x Nylock nut M5
2 x Washer M5

TOURING   RALLYE   RACING    TECHNOLOGY

09-051-1100-1

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Installation:
Remove first the rear passenger grab
handle of your R11xxGS.
Lay the Touratech extension on the
stock rack and attach front again with
the grab handle and original screws.

The extension is additionally attached
with the two M5x16 screws, washers M5
and nylock nuts M5 on the back as 
shown on the photo left.


